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L: unit lower-triangular matrix

U: upper-tria

ngular matrix

P: permutation matrix
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) a1 w’ LU-DECOMPOSITION(A)
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| 0 a ll‘T 3 initalize U with Os below the diagonal
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* The proof of Theorem 28.2 suggests a means of solving the
equation Ax=b by using LU decomposition without pivoting,
so long as A is nonsingular.
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* The proof of Theorem 28.2 suggests a means of solving the

equation Ax=b by using LU decomposition without pivoting,
so long as A is nonsingular.
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AX =1,
AX; = e
* The proof of Theorem 28.2 suggests a means of solving the
equation Ax=b by using LU decomposition without pivoting,
so long as A is nonsingular.
%f%t’% XFp 7% 1 ?
. (ATA)x = ATb

2. Factor the symmetric positive-definite matrix ATA by computing an
LU decomposition.

3. Use forward and back substitution to solve for x with the right-hand
side A'b.
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